Total number of printed pages-5

53 (CS 304) DTST -
w\/r_‘ ¥+ {5{\

2019 AR \‘y’f‘ \
5, A

DATA STRUCTURE = | 18
3 \‘ /S
Paper : CS 304 N\ /S

Mg g
- Full Marks : 100 ’
Time : Three hours

The figures in the margin indicate
Sfull marks for the questions.

Answer any five questions.

1. (A) Define complexity of an algorithm.
Discuss about asymptotic notation with
the help of example. 10

(B) Write the algorithm/pseudocode for
binary search technique. What is 3D
array ? 10

2. (A) Evaluate the following expression using
suitable data structure.

Q:5+(10/2-3)* (47 2+10)+6+12
10
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